




































4.2.2 Calculate the value of C as follows: 

C = ( N , ' S ) / F  

whae: 

C = residualmtrate,N, 

NJ = sodiumthiosulfate, mL, and 

F = filtrate, mL. 

4.3 Us& logatithmic paper, plot W M  (as the ordinate) versua C (as the abscissa) for 

each of the three carbon dosages. Calculate the least squms fit for the t h m  points 

and plot. The iodine munber is the W M  value at a nsidual iodine commtmtion (C) of 

0.02 N. The regression coe=ent for the least squares f3 should be greater than 

0.995. 

4.4 Carbon dosage may be estimated as follows: 

M - [ A  - (Dq (C) (126.93) (50) ] / E 

where: 

M = -n,g, 

A = (N2) (12693.0), 

DF = dilutionfrictor(see4.2.1) 

C = residualiodi, and 

E = estimated iodii number of the carbon. 

Three carbon dosage are calcuhted using three values of C (usually~O.01, 0.02 , and 

0.03). 
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